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Topic:­ Physics
1)

Question Stimulus :­

Dimensional formula of angular momentum is: /कोणीय सवंगे का िवमीय स�ू ह:ै

Correct Answer :­  

2)

Question Stimulus :­

On earth the maximum time period for simple pendulum may be: /प�ृ वी पर सरल लोलक का
अिधकतम आवत�काल हो सकता ह:ै

180.5 second/180.5 सकेंड

100 second/100 सकेंड

90.5 second/90.5 सकेंड

84.6 second/84.6 सकेंड

Correct Answer :­84.6 second/84.6 सकेंड 

3)

Question Stimulus :­

In a medium the velocity of wave is 960 m/s. If from any point in medium 3600 waves
passes in 1 minutes then what is the wavelength: /िकसी मा� यम म� तरंग की चाल 960 मी/स ेह।ै
यिद मा� यम के िकसी िबदं ुस े1 िमनट म� 3600 तरंग ेगजुर रही ह� तो तरंग द�ै य� ह:ै

2 meters/2 मीटर



4 meters/4 मीटर

8 meters/8 मीटर

16 meters/16 मीटर

Correct Answer :­16 meters/16 मीटर 

4)

Question Stimulus :­

Figure represent the x­t graph of one dimensional motion for a body with mass 4kg.
The resultant of each impulse is: /िच� म� 4 िक�ा �� यमान की व� त ुका एकिवमीय गित x­t �ाफ �दिश�त
ह।ै �� यके आवगे का प�रमाण ह:ै

4 Newton–Second / 4 � यटून – सकेंड

8 Newton–Second/ 8 � यटून – सकेंड

16 Newton–Second/ 16 � यटून – सकेंड

20 Newton–Second/ 20 � यटून – सकेंड

Correct Answer :­8 Newton–Second/ 8 � यटून – सकेंड 

5)

Question Stimulus :­

If some force applied on a wire then it's length will increased by 5 mm. If we take
other wire of same material whose length and diameter is doubled, then by
applying same force on it, it's length will be increased by: /एक तार पर कुछ बल लगान ेपर
उसकी लबंाई 5 िममी बढ़ जाती ह।ै यिद उसी पदाथ� के दूसरे तार की लबंाई एव ं� यास दोगनु ेहो तो इस ेउसी बल से
खीचन� पर लबंाई म� व�ृ� होगी:

2.5 mm/2.5 िममी

5.0 mm/5.0 िममी

10.0 mm/10.0 िममी

40.0 mm/40.0 िममी



Correct Answer :­2.5 mm/2.5 िममी 

6)

Question Stimulus :­

Which is the used for rectifier: /िदषट्करण के िलए �यकु्त िकया जाता ह:ै

Choke/चोक

Transformer/ट�ॉसफाम�र

Diode/डायोड

Capacitor/सधंा�रत

Correct Answer :­Diode/डायोड 

7)

Question Stimulus :­

In a coil of self inductance 0.5 henry. If the current varies at a constant rate from zero
to 10 amperes in 2 seconds. Then e.m.f. generated in the coil is­/ एक कु�ली म� ��रेक 0.5
हनेरी ह,ै यिद इसम� धारा का प�रवत�न एक िनयत दर स ेश�ू स े10 ए�ीयर 2 सके� म� होता ह,ै तो कु�ली म� उ��
िव. वा.बल होगा­

10 volts/ 10 वो�

5 volts/ 5 वो�

2.5 volts/ 2.5 वो�

1.25 volts/ 1.25 वो�

Correct Answer :­2.5 volts/ 2.5 वो� 

8)

Question Stimulus :­

In a thermodynamic process, a system absorbs 1 kilo calorie of heat and at the same
time does 250 joule of work. What is the change in the internal energy of the system: /
एक ऊ� मागितकी ि�या म�, एक िनकाय 1 िकलो कैलोरी ऊ� मा अवशोिषत करता ह,ै उसी समय उसके �ारा 250 जलू
काय� िकया जाता ह,ै तब िनकाय की आतं�रक ऊजा� म� � या प�रवत�न होता ह:ै

250 Joule/250 जलू

3950 Joule/3950 जलू



4200 Joule/4200 जलू

4450 Joule/4450 जलू

Correct Answer :­3950 Joule/3950 जलू 

9)

Question Stimulus :­

Wire P and Q have the same resistance at ordinary (room) temperature. When heated,
resistance of P increases and that of Q decreases. We conclude that: / P और Q तार की
समान कमरे के ताप पर समान �ितरोधता ह,ै जब ताप बढ़ाया जाता ह ैतो P की �ितरोधतका बढ़ जाती ह,ै जबिक Q
की �ितरोधतका घट जाती ह,ै हम िन� कष� िनकालत ेह� िक:

P and Q are conductors of different materials/P और Q िभनन् धातओु ंके चालक ह�

P is n­type semiconductors and N is P type semiconductor/ P, n­टाइप का अ��चालक है
और N, P­टाइप का अ��चालक है

P is semiconductor and Q is conductor/ P अ��चालक और Q चालक

P is conductor and Q is semiconductor/ P चालक ह ैएव ंQ अ��चालक

Correct Answer :­P is conductor and Q is semiconductor/ P चालक ह ैएव ंQ अ��चालक 

10)

Question Stimulus :­

Two equal charges of 1 coulomb each are situated at 1 km gap. The force acting
between them is: /दो समान आवशे �तय्के एक कूलॉम एक दूसरे स े1 िकमी की दूरी पर ह�, उनके बीच लगने
वाला बल ह:ै

/  � यटून

/

/  � यटून

/  � यटून

Correct Answer :­ /  � यटून 

11)

Question Stimulus :­

If velocity of light in water (refractive index  ) is   m/s then velocity of



light in air will be: / यिद पानी (अपवत�नाकं  ) म� �काश की चाल   मी/स ेह,ै तो वाय ुम�
�काश की चाल होगी:

 m/s/  मी/से

 m/s/  मी/से

 m/s/  मी/से

3  m/s/3  मी/से

Correct Answer :­  m/s/  मी/स े

12)

Question Stimulus :­

The activity of a radio­active sample is 1.6 curie and it's half­life time is 2.5 days. It's
activity after 10 days will be: /रेिडयो ंसि�य नमनू ेकी सि�यता 1.6 � यरूी ह ैऔर उसका अ��आयकुाल
2.5 िदन ह ैतो 10 िदन बाद उसकी सि�यता होगी:

0.8 curie/0.8 � यरूी

0.4 curie/ 0.4 � यरूी

0.1 curie/0.1 � यरूी

0.16 curie/0.16  � यरूी

Correct Answer :­0.1 curie/0.1 � यरूी 

13)

Question Stimulus :­

If distance between two plates is 2 cm and 10 v electric potential applied between
them, then the value of electric field will be­/दो �टेो ंके बीच अतंर 2 समेी ह ैएव ं10 बो� का
िवद्युत िवभवातंर दोनो ं�टेो ंके बीच लगाया जाता ह,ै तो िवद्युत ��े का मान होगा­

20 N/c

500 N/c

5 N/c

250 N/c

Correct Answer :­500 N/c 



14)

Question Stimulus :­

A car wheel rotates 1200 rotation/min and by pressing accelerator, after 10 sec wheel
rotates 4500 rotation/min. What is the angular acceleration of wheel: /एक कार का पिहया
1200 च� कर/िमनट लगा रहा ह।ै कार के � वरक को दबान ेपर यह 10 सकेंड के बाद 4500 च� कर/िमिनट लगाने
लगता ह।ै पिहय ेका कोणीय � वरण ह:ै

/

/

/

/

Correct Answer :­ /  

15)

Question Stimulus :­

The resistivity of wire depends on its­/िकसी तार की �ितरोधकता िनभ�र करती ह­ै

Length/लबंाई पर

Area of cross section/अन�ु�थकार के ��ेफल पर

Shape/उसके आकार पर

Material/उसके पदाथ� पर

Correct Answer :­Material/उसके पदाथ� पर 

16)

Question Stimulus :­

Unit of stress is same as which of the following? /�ितबल का मा�क िन� न म� स ेिकसके समान ह?ै

Force/बल

Pressure/दाब

Work/काय�



/

Correct Answer :­Pressure/दाब 

17)

Question Stimulus :­

A proton and an α­particle enter a magnetic field normally. If the force experienced by
the proton is doubled of that experienced by the α­particle, the ratio of speeds is­/एक
�ोटॉन और α­कण िकसी चुंबकीय ��े म� लबंवत �वशे करत ेह।ै यिद �ोटॉन पर लगन ेवाला बल α­कण पर लगन ेवाले
बल स ेदोगनुा ह।ै तो उनकी चालो ंका अनपुात ह­ै

0.5

1

2

4

Correct Answer :­4 

18)

Question Stimulus :­

On a smooth inclined plane, a body of mass M is attached between two spring. The
other ends of the spring are fixed to firmm supports. If each spring have force constant
K, the period of oscillation of the body (assuming the spring as mass less): /एक िचकनी
सतह के झकुे तल पर एक व� त ुिजसका �� यमान M दो ��गो ंस ेबधंा ह,ै ��गो ंके एक दूसरे छोर �ढ़ सहारे स ेबधँ े�ये
ह� यिद �� यके ��गं का बल िनयताकं K ह ैतो व� त ुका आवत�काल होगा (यिद ��गं भार िवहीन ह)ै:



Correct Answer :­  

19)

Question Stimulus :­

Colour of light may be find by: / �काश का तरंग �ात िकया जाता ह।ै:

Velocity/ वगे से

Amplitude/आयाम से

Frequency/ आविृ� से

Polarisation/�वुीकरण से

Correct Answer :­Frequency/ आविृ� स े

20)

Question Stimulus :­

Len’z law is resultant of conservation of­/ ल�ज का िनयम िन� सरं�ण का प�रणाम ह­ै

Charge/ आवशे

Momentum/ सवंगे

Mass/ ��मान

Energy/ ऊजा�

Correct Answer :­Energy/ ऊजा� 

21)

Question Stimulus :­

If relation between time ‘t’ and displacement x is   where   and  are
constants then retardation will be: /यिद समय ‘t’ तथा िव� थापन x म� सबंधं   ह,ै
जहा ँ  और   िनयताकं ह ैतो म� दन होगा:



Correct Answer :­  

22)

Question Stimulus :­

If a body displaced   meter by applying a force   Newton, then
work alone by a force is: / एक बल   � यटून लगान ेस ेएक िप� ड का िव� थापन 
 मीटर होता ह।ै बल �ारा िकया गया काय� ह:ै

13 Joule/13 जलू

5 Joule/5 जलू

­4 Joule/­4 जलू

9 Joule/9 जलू

Correct Answer :­5 Joule/5 जलू 

23)

Question Stimulus :­

The net resistance of a voltmeter should be large to ensure that­/वो�मीटर का कुल �ितरोध
अिधक होना चािहय ेिजसस­े

It does not get overheated/ य ेअ�िधक गम� नही ंहोती है

It does not draw excessive current/ य ेअ�िधक धारा को नही ंिनकलन ेदगेी

It can measure large potential difference/ य ेअिधक िन�ातंर को माप सकता है

It does not appreciably change the potential difference/ य ेिवभवातंर के मापन म� िववचेनीय
प�रवत�न नही ंकरता है

Correct Answer :­It does not appreciably change the potential difference/ य ेिवभवातंर के
मापन म� िववचेनीय प�रवत�न नही ंकरता ह ै

24)

Question Stimulus :­

A proton accelerated from rest through 1 volt potential difference. Its kinetic energy
will be: /एक �ोटॉन िवराम स े1 वो� ट िवभवातंर �ारा � व�रत िकया जाता ह ैउसकी गितज ऊजा� होगी:



Correct Answer :­  

25)

Question Stimulus :­

The path of body moving in two dimensional with constant velocity is: /ि�मीय गित म�
एकसमान वगे स ेगितमान व� त ुका माग� होता ह:ै

Zig Zag /व�ीय

Circular /व�ृ तीय

Hyperbolic /परवलयाकार

Straight line /सरल रेखीय

Correct Answer :­Straight line /सरल रेखीय 

26)

Question Stimulus :­

If the mass and radius of earth be reduced by 1% then the value of acceleration due to
gravity ‘g’ will be: /यिद पथृव्ी का �वय्मान तथा ि�जय्ा 1% कम कर दी जाव� तो ग�ु� वीय � वरण g का मान:

Reduced by 1%/1% कम हो जाएगा

Increased by 1%/1% बढ़ जाएगा

Increased by 2%/2% बढ़ ़जाएगा

Remain same/ अप�रवित�त रहगेा

Correct Answer :­Increased by 1%/1% बढ़ जाएगा 

27)

Question Stimulus :­



If the prism has angle is 60o and angle of minimum deviation is 40o then angle of
refraction will be: /यिद ि�� म का कोण 60o तथा � यनूतम िवचलन कोण 40o हो, तो अपवत�न कोण होगा:

30o

60o

100o

120o

Correct Answer :­30o 

28)

Question Stimulus :­

The quantity of electron emitted per second depends on: /उ� सिज�त इल�े ट�ॉनो ंकी �ित सकेंड
स�ं या िनभ�र करती ह:ै

Intensity of incident light/ आपितत �काश की ती�ता पर

Nature of incident light/आपितत �काश की �कृित पर

Velocity of incident light/ आपितत �काश के वगे पर

Frequency of incident light/ आपितत �काश की आविृत पर

Correct Answer :­Intensity of incident light/ आपितत �काश की ती�ता पर 

29)

Question Stimulus :­

At constant pressure and constant volume the specific heat are Cp and Cv respectively
for nitrogen unit mass then: /यिद नाइट�ोजन के एकाकं �� यमान के िलए िनयत दाब व िनयत आयतन पर
िविश� ठ ऊ� माएँ �मश: Cp व Cv ह� तो:



Correct Answer :­  

30)

Question Stimulus :­

In the circuit shown P ≠ R, the reading of the galvanometer is same with switch
S open or closed. Then­/प�रपथ दशा�ता ह ैकी, P ≠ R एव ंग�ैनेोमीटर की रीडीगं एक समान ह,ै
जबिक ��च S बदं हो या खलुा हो तब­

IR = IG

IP = IG

IQ = IG

IQ = IR

Correct Answer :­IR = IG 

Topic:­ Chemistry
1)

Question Stimulus :­

Which one does not show Frenkel defect?/िन�िल�खत ि��लो ंम� स ेकौन­सा ��कल दोष �दिश�त नहीं
करता ह?ै

AgCl

AgBr

ZnS

KBr

Correct Answer :­KBr 

2)

Question Stimulus :­



Which among the following acid undergoes addition contrary to Markownikoff’s rule in
presence of peroxide?/ िन� म� परॉ�ाइड की उप��थित म� कौन­सा अ� माक�नीकॉफ िनयम के िवपरीत
योग करके उ�ाद दतेा ह?ै

HCl

Hf

HBr

HI

Correct Answer :­HBr 

3)

Question Stimulus :­

Which of the following solutions turns blue when a copper filing is put into it?/ िन� म� से
िकस िवलयन म� कॉपर की कील डालन ेपर िवलयन का रंग नीला होगा?

AgNO3

Na2SO4

ZnSO4

NaCl

Correct Answer :­AgNO3 

4)

Question Stimulus :­

A mixture of common salt and naphthalene is separated by­/ साधारण नमक और न�ैथलेीन के
चणू� के िम�ण का पथृ�रण िकस �कार िकया जायगेा­

Chromatography/ �ोमटैो�ाफी

Fractional distillation/ �भाजी आसवन

Simple distillation/ साधारण आसवन

Sublimation/ ऊ��पातन

Correct Answer :­Sublimation/ ऊ��पातन 

5)



Question Stimulus :­

Amphoteric oxide is­/उभयधम� ऑ�ाइड ह­ै

SnO2

CO2

SiO2

CaO

Correct Answer :­SnO2 

6)

Question Stimulus :­

The electronic configuration of Cu (29) is­/Cu (29) का श�ु इल�े�ािनक िव�ास ह­ै

[Ar]4s2

[Ar]4s1

[Ar]3d94s2

[Ar]3d104s1

Correct Answer :­[Ar]3d104s1 

7)

Question Stimulus :­

It is impossible for a reaction to take place if­/उस अिभि�या का होना अस�व ह,ै जब­

∆H is + ve, ∆S is – ve

∆H is – ve, ∆S is + ve

∆H is – ve, ∆S is – ve

∆H is + ve, ∆S is + ve

Correct Answer :­∆H is + ve, ∆S is – ve 

8)

Question Stimulus :­



Strongest Acid is­/ सबस े�बल अ� ह­ै

C6H6

CH3OH

C2H6

CH ≡ CH

Correct Answer :­CH3OH 

9)

Question Stimulus :­

What is the hybrid state of Cl in ClF3?/ ClF3 म� Cl की सकं�रत अव�था ह­ै

SP2

SP3

SP3d

SP3d2

Correct Answer :­SP3d 

10)

Question Stimulus :­

Acids which are responsible for Acid Rain are­/अ� वषा� के िलए उ�रदायी अ� कौन स ेह�?

H2SO4 + HNO3

H2SO4 + HCl

HNO3 + H2CO3

None of these/ कोई नहीं

Correct Answer :­H2SO4 + HNO3 

11)

Question Stimulus :­

In the metallurgy of which of the following cupellation process is used?/ िन�िल�खत म� से



िकसके धातकुम� म� खप�रण ��म को �य�ु िकया जाता ह?ै

Silver/ चादँी

Copper/ ताबँा

Aluminium/ ए�मुीिनयम

Iron/ लोहा

Correct Answer :­Silver/ चादँी 

12)

Question Stimulus :­

The example of dSP2 hybridisation is­/ dSP2 सकंरण का उदाहरण ह­ै

Correct Answer :­  

13)

Question Stimulus :­

Which of the following gives green colour to fire works?/ आितशबाजी को हरा रंग कौन दतेा ह?ै

Potassium/ पोटिेशयम

Barium/ ब�ेरयम

Calcium/ कै��शयम

Sodium/ सोिडयम

Correct Answer :­Barium/ ब�ेरयम 

14)

Question Stimulus :­

A group of atoms generally behave as a ligand if­/साधारणतः परमाणओु ंम� समहू सलं�ी (िलगडं)



की भािंत काय� कर सकता ह,ै यिद­

They are cations/ व ेधन आविेशत आयन हो

They are neutral molecules or an ions/ व ेया तो उदासीन अण ुहो या ऋणआविेशत आयन हो

They are free radicals/ व ेम�ु मलूक हो

None of these/ इनम� स ेकोई नहीं

Correct Answer :­They are neutral molecules or an ions/ व ेया तो उदासीन अण ुहो या
ऋणआविेशत आयन हो 

15)

Question Stimulus :­

The two functional groups present in a typical carbohydrate are­/ काब�हाइड�ेट म� उप��थत दो
ि�या�क समहू ह�­

/

/

/

/

Correct Answer :­ /  

16)

Question Stimulus :­

In which of the following process two lighter atoms combine to form one heavier
atom?/ िन� म� स ेिकस �ि�या म� दो ह�े अण ुिमलकर एक भारी अण ुका िनमा�ण करत ेह�?

Nuclear fission/ नािभकीय िवघटन

Radiation therapy/ िविकरण उपचार

Nuclear fusion/ नािभकीय सलंयन

None of these/ इनम� स ेकोई नही ं

Correct Answer :­Nuclear fusion/ नािभकीय सलंयन 

17)



Question Stimulus :­

In the adiabatic expansion of an ideal gas­/ एक आदश� गसै के ��ो� �सार म� िन� म� स े�ा होता
ह?ै

Correct Answer :­  

18)

Question Stimulus :­

The vapour pressure of a solvent is 0.80 atm. When a non­volatile substance B is added
to this solvent, its vapour pressure drops to 0.6 atm. What is mole fraction of B in
solution?/ िवलायक A का वा� दाब 0.80 वायमु�ल ह।ै यिद इसम� एक अवा�शील पदाथ� B को िमला िदया
जाय,े तो िवलायक का वा� दाब िगरकर 0.6 वायमु�ल हो जाता ह।ै िवलयन म� B का मोल अशं �ा ह?ै

0.50

0.25

0.90

0.75

Correct Answer :­0.25 

19)

Question Stimulus :­

Which among the following compound after ozonolysis gives CH3CHO and CH3COCH3
on hydrolysis?/ िन� म� स ेकौन­सा यौिगक ओजोनीकरण के प�ात जल अपघटन पर केवल CH3CHO व
CH3COCH3 दतेा ह?ै



Correct Answer :­  

20)

Question Stimulus :­

Acetonitrile is­/एसीटोनाइट�ाइल ह­ै

CH3COCN

C6H5CH2CN

CH3CN

C2H5CN

Correct Answer :­CH3COCN 

21)

Question Stimulus :­

Chile saltpetre is an ore of­/ िचली सा�पीटर िकस धात ुका अय� ह­ै

Sodium/ सोिडयम

Magnesium/ म�ैीिशयम

Iodine/ आयोडीन

Bromine/ �ोमीन

Correct Answer :­Sodium/ सोिडयम 

22)

Question Stimulus :­

By the bromination of propene with N bromo succinimide the following is obtained­/
�ोपीन के N­�ोमो स�ीनीमाइड �ारा �ोमीनीकरण स े�ा� होता ह­ै



Correct Answer :­  

23)

Question Stimulus :­

Rate of a reaction is K[A]n[B]m, then its order is­/ िकसी अिभि�या के िलय ेवगे K[A]n[B]mह,ै तो
इसकी कोिट होगी­

m

n

m + n

m ­ n

Correct Answer :­m + n 

24)

Question Stimulus :­

Which polymer is thermoplastic?/ कौन­सा ब�लक थम��ा��क ह?ै

Nylon/ नायलॉन

Polyethene/ पॉलीथीन

Terylene/ टरेीलीन

All/ सभी

Correct Answer :­Polyethene/ पॉलीथीन 

25)

Question Stimulus :­

The value of x in   is­   म� x का मान होगा­

+4

+6

+2



+3

Correct Answer :­+3 

26)

Question Stimulus :­

Which one of the following salt will produce an Alkaline solution on dissolving in
water?/ िन� म� स ेकौन­सा लवण जल म� घोलन ेपर �ारीय िवलयन दगेा?

Na2CO3

NaNO3

Na2SO4

NH4Cl

Correct Answer :­Na2CO3 

27)

Question Stimulus :­

Which of the following provides minimum energy in metabolic process?/ उपापचयी िविधयों
म� िन�िल�खत म� स ेकौन �नूतम ऊजा� �दान करता ह­ै

Protein/�ोटीन

Fat/ वसा

Lipids/ िलिपड

Carbohydrates/ काब�हाइड�ेट

Correct Answer :­Carbohydrates/ काब�हाइड�ेट 

28)

Question Stimulus :­

A mineral is called an ore­/िकसी खिनज को अय� कहत ेह� यिद­

In which a precious metal is present/ उसम� उप��थत धात ुब�म�ू है

From which metal can be extracted profitably/उसम� धात ुका िन�ष�ण लाभ�द है



From which metal cannot be extracted/ उसम� धात ुका िन�ष�ण नही ंकर सकत ेह�

From which metal can be extracted/ उसम� धात ुका िन�ष�ण नही ंहो सकता ह�

Correct Answer :­From which metal can be extracted profitably/उसम� धात ुका िन�ष�ण
लाभ�द ह ै

29)

Question Stimulus :­

At 500 oC on reaction of Chlorine and Propene is formed­/500 oC पर �ोपीन पर �ोरीन की
ि�या स ेबनता ह?ै

Propane dichloride/ �ोपने डाइ�ोराइड

Propylidine Chloride/ �ोिपलीडीन �ोराइड

Allyl Chloride/ एलाइल �ोराइड

None of these/ इनम� स ेकोई नहीं

Correct Answer :­Allyl Chloride/ एलाइल �ोराइड 

30)

Question Stimulus :­

Important ore of iron is­/ लोह ेका मह�पणू� अय� ह­ै

Haematite/ हमेटैाइड

Pitch blende/ िपच ��ेी

Malachite/ मलैकेाइट

Galena/ गलैीना

Correct Answer :­Haematite/ हमेटैाइड 

Topic:­ Botany
1)

Question Stimulus :­

A plant which lives for a few days is called­/ पौधा जो कुछ िदन के िलय ेजीिवत रहता ह,ै कहलाता ह­ै

Annual/ एकवष�य

Perennial/ ब�वष�य



Biennial/ ि�वष�य

Ephemeral/ अ�कािलक

Correct Answer :­Ephemeral/ अ�कािलक 

2)

Question Stimulus :­

The nitrogenous bases in DNA are­/ DNA म� नाइट�ोजनी �ारक होत ेह�­

AUGC

UTGC

ATGC

ATUC

Correct Answer :­ATGC 

3)

Question Stimulus :­

In plants Fibrous cells are­/ पादपो ंम� रेशदेार कोिशकाएँ होती ह�­

Living/ जीिवत

Dead/ मतृ

In some plants they are living/ कुछ पौधो ंम� जीिवत

None of the above/ उपरो� म� स ेकोई नहीं

Correct Answer :­Dead/ मतृ 

4)

Question Stimulus :­

Which of the following cell organelles can survive out of the cell?/ कौन­सा कोिशकागं
कोिशका के बाहर जीिवत रह सकता ह?ै

ER/ ऐ�ो�ा��क रेटीकुलम

Chloroplast/ �ोरो�ा�

Nucleus/ क��क



Golgi body/ गॉ�ी बॉडी

Correct Answer :­Chloroplast/ �ोरो�ा� 

5)

Question Stimulus :­

The process in which excess energy is lost by light waves is called­/ वह ि�या िजसम�
अित�र� ऊजा� का �य �काशीय तरंगो ं�ारा होता ह,ै कहलाती ह­ै

Fluorescence/ �ितदी��

Photophosphorylation/ फोटो फॉ�ो�रलशेन

Photolysis/ फोटोलायिसस

Photo oxidation/ �काशीय ऑ�ीकरण

Correct Answer :­Photo oxidation/ �काशीय ऑ�ीकरण 

6)

Question Stimulus :­

Salmonellosis is the process of­/ सा�ोनिेलओिसस की ि�या होती ह­ै

Reproduction by bacteria/ जीवाण ु�ारा जनन

Food poisoning by bacteria/ जीवाण ु�ारा फूड पोइजिनगं

Sanitation by bacteria/ जीवाण ु�ारा सफाई

Decomposition by bacteria/ जीवाण ु�ारा िवघटन

Correct Answer :­Food poisoning by bacteria/ जीवाण ु�ारा फूड पोइजिनगं 

7)

Question Stimulus :­

Calyptra is a structure­/ केिल��ा ऐसी सरंचना होती ह ैिजसका िनमा�ण होता ह­ै

Formed by the venter of the archegonia/ आक�गोिनया की व�ेर से

Formed at the base of the antheridia/ ए���रिडया के आधार भाग से

Formed in the centre of the capsule/ कै�लू के म� भाग से

Formed at the base of the leaves/ पि�यो ंके आधार भाग से



Correct Answer :­Formed by the venter of the archegonia/ आक�गोिनया की व�ेर स े

8)

Question Stimulus :­

"Theory of epigenesis'' was given by­/ ईपीजनेिेसस का िस�ातं िदया­

Aristotle/ अर� ुने

Swamerdom/ �ामड�म ने

Wolff/ वॉ� ने

Dartin/ डािट�न ने

Correct Answer :­Wolff/ वॉ� न े

9)

Question Stimulus :­

Bark and leaves of which of the following plants are used to store the cloths­/ कपड़ो ंका
भ�ारण करन ेके िलए िकसकी छाल व पि�यो ंका �योग िकया जाता ह­ै

Euphorbia hirta/ यफूोिब䆨䆧या िहरटा

Euphorbia thymifolia/ यफूोिब䆨䆧या थाइमीफोिलया

Eclipta alba/ इकिल䒆䒅ा ए䍆䔚ा

Azadirachta indica/ एजािडर䋫䋪ा इ䉆䉅㷜㷛का

Correct Answer :­Azadirachta indica/ एजािडर䋫䋪ा इ䉆䉅㷜㷛का 

10)

Question Stimulus :­

The sub­unit of chromatin is­/ �ोमिैटन की उप­इकाई ह­ै

Gene/ जीन

Nucleosome/ ��ू�योसोम

Chromocenter/ �ोमोस�ेर

Chromomere/ �ोमोिमयर



Correct Answer :­Nucleosome/ ��ू�योसोम 

11)

Question Stimulus :­

Watson and Crick proposed the model of DNA double helix structure in­/ वाटसन तथा ि�क
के �ारा डीएनए का ि�कुंडिलत मॉडल कब ��ािवत िकया?

1943

1953

1955

1963

Correct Answer :­1953 

12)

Question Stimulus :­

The organism in which Kreb's cycle does not occur in mitochondria is­/ िन� म� स ेिकसम� �ेब
च� ि�या माइटोकॉ���या म� नही ंहोती ह?ै

Yeast/ यी䖅䖄

E. coli/ ई. कोलाई

Ulothrix/ यलूोि䊷䊠䌛䌚

Mould/ मो䔉䔈

Correct Answer :­E. coli/ ई. कोलाई 

13)

Question Stimulus :­

Which of the following state is highest producer of wheat in India?(According to 2015
data) /भारत म� सवा�िधक ग�े ँउ�ादक रा� िन� म� स ेकौन सा ह?ै(2015 के आकँड़ो ंके अनसुार)

Kerala/केरल

Karnataka/कना�टक

Uttar Pradesh/उ�र �दशे

Jharkhand/झारखडं



Correct Answer :­Uttar Pradesh/उ�र �दशे 

14)

Question Stimulus :­

Flower and lateral branches arise from the­/ प�ु और शाखाय� उ�� होती ह�­

Lateral buds/ लटेरल बड से

Lentices/ ल�े�ससे ्से

Stomata/ �ोमटेा से

Cuticle/ �िूटिकल से

Correct Answer :­Lateral buds/ लटेरल बड स े

15)

Question Stimulus :­

Poly ethylene glycol (PEG) is used in­/ पॉलीइिथलीन �ाइकोल (PEG) का उपयोग िकसम� िकया जाता
ह­ै

Protoplast fusion/जीव��क सयंोजन

Embryoculture/�णू सवंध�न

Fermentation/िक�न

Protoplast isolation/जीव��क िवलगन

Correct Answer :­Protoplast fusion/जीव��क सयंोजन 

16)

Question Stimulus :­

Which of the character is dominant in pea plant?/ मटर के पौध ेम� कौन­सा ल�ण �भावी ह?ै

Wrinkled seeds containing tall plants/ झरु�दार बीज जो लबं ेपौध ेपर उप��थत है

Red flower containing dwarf plant/ लाल प�ु य�ु बौना पौधा

Both of the above/ उपरो� दोनों

None of the above/ उपरो� म� स ेकोई नहीं

Correct Answer :­None of the above/ उपरो� म� स ेकोई नही ं



17)

Question Stimulus :­

In plant kingdom, second largest chloroplast is found in / पादप जगत म� दूसरा सबस ेबड़ा
�ोरो�ा� पाया जाता ह­ै

Chlorella/ 㻟㻞ोरे䔣䔢ा म䉮䆳

Azolla/ एजोला म䉮䆳

Scendesmus/ सकेे㷜㷛䖟े䑡स म䉮䆳

Pandanus/ प䏍े䏌नेस म䉮䆳

Correct Answer :­Scendesmus/ सकेे㷜㷛䖟े䑡स म䉮䆳 

18)

Question Stimulus :­

Ovule is ategmic in­/ओ�लू एट�े�क होता ह­ै

Helianthus/हिेलए䑷䑙स म䉮䆳

Pea/ मटर म䉮䆳

Santalum/स䉦े䑍लेम म䉮䆳

Brassica/�िेसका म䉮䆳

Correct Answer :­Santalum/स䉦े䑍लेम म䉮䆳 

19)

Question Stimulus :­

Which of the following is a photo–autotrophic bacterium?/ �काशीय �पोषी
(फोटोऑटोट�ोिफक) जीवाण ुकौन­सा ह?ै

Rhodospirillum/ रोडो䖗䖴ाइ䉄䉃रलम

Azospirillum/ ऐजो䖗䖴ाइ䉄䉃रलम

Nitrosomonas/ नाइट䆭䆫ोसोमोनास

Nitrobacter/ नाइट䆭䆫ोब䋫ै䋪र

Correct Answer :­Rhodospirillum/ रोडो䖗䖴ाइ䉄䉃रलम 



20)

Question Stimulus :­

Centrosomes are commonly found in animal cells, but in plant cells they are­/ स�े�ोसो�
सामा�तया ज� ुकोिशकाओ ंम� पाय ेजात ेह� पर� ुपादप कोिशकाओ ंम�­

Never present/ कभी नही ंपाय ेजाते

Present in bryophytes/ �ायोफाइटस् म� पाय ेजात ेह�

Present in some algae and fungi/ कुछ शवैाल एव ंकवको ंम� पाय ेजात ेह�

Present in some gymnosperms/ कुछ िज�ो��स् म� पाय ेजात ेह�

Correct Answer :­Present in some algae and fungi/ कुछ शवैाल एव ंकवको ंम� पाय ेजात ेह� 

21)

Question Stimulus :­

Of about 30 different enzymes isolated from plasma membrane which one occurs in
more quantity­/ �ा�ा िझ�ी म� पाय ेजान ेवाल े30 िभ� ए�जाइ� म� स ेकौन­सा ए�जाइम अिधक मा�ा म�
पाया जाता ह­ै

ATP ase/ATP यजे

Alkaline phosphatase/ ए�ेलाइन फॉ�ेटजे

Acid phosphomonoesterase/ एिसड फा�ोमोनोए�रेज

RNA ase/ RNA यजे

Correct Answer :­ATP ase/ATP यजे 

22)

Question Stimulus :­

Paracoccus is­/ परेाकोकस होता ह­ै

Aerobic bacteria/ ऑ�ी जीवाणु

Anaerobic bacteria/ अनॉ�ी जीवाणु

Both of the above/ उपरो� दोनों

None of the above/ उपरो� म� स ेकोई नहीं



Correct Answer :­Aerobic bacteria/ ऑ�ी जीवाण ु

23)

Question Stimulus :­

Alkaloids present in plant cells as­/ पादप कोिशका म� ऐ�लोइडस् पाय ेजात ेह�­

Secretory products/ �ावी उ�ाद की तरह

Excretory products/ उ�ज� उ�ाद की तरह

Storage products/ स�ंह उ�ाद की तरह

Respiratory substrates/ �सन पदाथ� की तरह

Correct Answer :­Excretory products/ उ�ज� उ�ाद की तरह 

24)

Question Stimulus :­

One character is common in between Funaria and Dryopteris. That character
is­/एक ल�ण जो �नू�ेरया और ड�ायो��ेरस दोनो ंम� ही पाया जाता ह­ै

Monoecious gametophyte/ मोनोिशयस गिैमटोफाइट

Dioecious gametophyte/ डायोिशयस गिेमटोफाइट

Heterosporous sporophyte/ हटेरो�ोरस �ोरोफाइट

Stele is protostele/ �ील (�ोटो�ील)

Correct Answer :­Monoecious gametophyte/ मोनोिशयस गिैमटोफाइट 

25)

Question Stimulus :­

What is active glucose?/ सि�य �कूोज �ा ह?ै

FAD–glucose/ �कूोज

NAD–glucose/ �कूोज

Phospho­glucose/ फॉ�ो�कूोज

Glycerophosphate/ ��सरोफॉ�ेट

Correct Answer :­Phospho­glucose/ फॉ�ो�कूोज 



26)

Question Stimulus :­

Koch’s postulates are not applicable to­/ कॉच की अिभधारणाय� िकसम� लाग ूनही ंहोती ह­ै

T. B./ टी. बी.

Leprosy/ कु� रोग

Cholera/ हजैा

Diphtheria/ िड�थी�रया

Correct Answer :­Leprosy/ कु� रोग 

27)

Question Stimulus :­

Why do fruit juices turn bitter if kept in an open place for some­time?/ फलो ंके रस को खलुा
रखन ेपर कुछ समय के उपरा� कड़वाहट �ो ंआ जाती ह?ै

Juices have something inside them which makes it bitter/ रस म� उप��थत पदाथ� कड़वाहट
िवकिसत करत ेह�

It is due to fermentation brought about by yeast cells/ यी� कोिशकाओ ंके �ारा होन ेवाली
िक�न की �ि�या के कारण कड़वाहट आ जाती है

It is due to the activity of fungi present in the atmosphere/ वातावरण म� उप��थत कवकों
की ि�याशीलता के कारण कड़वाहट आ जाती है

Due to all the above/ उपरो� सभी के कारण

Correct Answer :­It is due to fermentation brought about by yeast cells/ यी�
कोिशकाओ ंके �ारा होन ेवाली िक�न की �ि�या के कारण कड़वाहट आ जाती ह ै

28)

Question Stimulus :­

In a certain plant, red flowers (R) are dominant to white flowers (r) and
tallness (T) is dominant to dwarfness (t). A heterozygous plant (RrTt) is
backcrossed with a double recessive plant (rrtt). If the gene loci for colour and
size and situated very close together on the same chromosome, the expected
percentage of offsprings could be approximately/एक पौध ेम� लाल प�ु (R)  सफेद (r)
पर �भावी ह ैतथा ल�ाई (T) बौनपेन (t) पर �भावी ह ैएक िहटरोजाइगस पौध े(RrTt) को दोहरे अ�भावी
पौध े(rrtt) स ेप� �ास कराया। यिद वण� तथा आकार के जीन एक ही गणुस�ू पर अितसमीप ��थत ह� तो
सतंित म� सभंािवत �ितशतता होगी



tall  red/ल�ा
लाल

tall  white/ल�ा
सफेद

dwarf red/बौना
लाल

dwarf white/बौना
सफेद

25% 25% 25% 25%

tall  red/ल�ा
लाल

tall  white/ल�ा
सफेद

dwarf red/बौना
लाल

dwarf white/बौना
सफेद

49% 49% 1% 1%

tall  red/ल�ा
लाल

tall  white/ल�ा
सफेद

dwarf red/बौना
लाल

dwarf white/बौना
सफेद

49% 1% 1% 49%

tall  red/ल�ा
लाल

tall  white/ल�ा
सफेद

dwarf red/बौना
लाल

dwarf white/बौना
सफेद

1% 1% 49% 49%

Correct Answer :­ 
tall  red/ल�ा
लाल

tall  white/ल�ा
सफेद

dwarf red/बौना
लाल

dwarf white/बौना
सफेद

49% 1% 1% 49%

29)

Question Stimulus :­

CCA base sequence is present in which part of tRNA­/ CCA �ारक �म tRNA के िकस भाग म�
पाया जाता ह­ै

Anticodon loop/ ए�ीकोडोन लपू पर

Variable loop/ व�ेरयबेल लपू पर

3' end/3' िसरे पर

5' end/5' िसरे पर



Correct Answer :­3' end/3' िसरे पर 

30)

Question Stimulus :­

Palm like fleshy adventitious roots are the feature of­/ पाम के समान मासंल अप�थािनक जड़�
िकसका ल�ण ह­ै

Dahlia/ डहिेलया

Asparagus/ ए䖗䖴रेेगस (सतावर)

Curcuma/ कुरकुमा

Orchis/ आिक䆨䆧स

Correct Answer :­Orchis/ आिक䆨䆧स 

Topic:­ Zoology
1)

Question Stimulus :­

The initial step in the digestion of milk in child is carried out by­/ िशश ुम� दूध का पाचन
�ार��क चरण म� िन� �ारा होता ह­ै

Lipase/ लाइपजे

Trypsin/ िट���न

Pepsin/ प�े�न

Renin/ रेिनन

Correct Answer :­Renin/ रेिनन 

2)

Question Stimulus :­

Insectivorous plants eat insects to obtain­/ कीटभ�ी पौध ेकीटो ंका भ�ण करत ेह�­

Na and K/ Na व K हतेु

Chloride/ �ोराइड हतेु

Nitrogen/ नाइट�ोजन हतेु

None of these/इनम� स ेकोई नहीं



Correct Answer :­Nitrogen/ नाइट�ोजन हते ु

3)

Question Stimulus :­

Middle lamella is a:/ िमिडल लमैलेा म� होता हःै

Chitin/ काइिटन

Lignin/ िलि�न

Pectin/ प�े�न

Cellulose/ स�ेलूोज

Correct Answer :­Pectin/ प�े�न 

4)

Question Stimulus :­

Which type of classification based on number of chromosome?/ गणुस�ू की स�ंा पर आधा�रत
वग�करण ह­ै

Numiral taxonomy/ �मूीरल ट�ेोनोमी

Cytotaxonomy/ साइटोट�ेोनोमी

Kariotaxonomy/ के�रयोट�ेोनोमी

Biochemistry/ जवै रासायन

Correct Answer :­Cytotaxonomy/ साइटोट�ेोनोमी 

5)

Question Stimulus :­

Interferons are­/ इ�रफेरॉ� ह­ै

Protein products of macrophages which destroy microbes/ म�ैोफेजज़े के �ोिटन उ�ाद
जो स�ूजीवो ंको न� करत ेह।ै

Allergens/ एलिज��

Protein secreted by virus infected cells which protect non­infected cells from
further viral infection/ वायरस स�ंिमत कोिशकाओ ं�ारा �ािवत �ोटीन जो िक अस�ंिमत कोिशकाओं
को वायरस के स�ंमण स ेबचाता ह।ै



Antibody molecules/ �ितर�ी अणु

Correct Answer :­Protein secreted by virus infected cells which protect non­infected
cells from further viral infection/ वायरस स�ंिमत कोिशकाओ ं�ारा �ािवत �ोटीन जो िक अस�ंिमत
कोिशकाओ ंको वायरस के स�ंमण स ेबचाता ह।ै 

6)

Question Stimulus :­

The example of auxetic growth is–/शीष��ध व�ृ�द का उदाहरण ह­ै

Roundworm/स�ूकृिम

Human/ मन�ु

Lizard/िछपकली

Frog/म�ढक

Correct Answer :­Roundworm/स�ूकृिम 

7)

Question Stimulus :­

Protection is given in national parks to–/ रा��ीय उ�ान म� सरु�ा दी जाती ह­ै

Only fauna/ केवल ज�जुात को

The whole ecosystem/ स�णू� पा�र��थितकी त�ं को

Only flora/ केवल पादपजात को

Both fauna and flora/ ज�जुात एव ंपादपजात दोनो ंको

Correct Answer :­The whole ecosystem/ स�णू� पा�र��थितकी त�ं को 

8)

Question Stimulus :­

Cause of acid rains is­/अ�ीय वषा� का कारण ह­ै

Pollution of CO2/ CO2 �दूषण

Dust Particles/ धलू कण

Pollution of SO2 and NO2/ SO2 एव ंNO2 �दूषण



Automobile pollution/ आटोमोबाइल �दूषण

Correct Answer :­Pollution of SO2 and NO2/ SO2 एव ंNO2 �दूषण 

9)

Question Stimulus :­

It is given that x is haemophilia gene chromosome and x is chromosome of normal
blood clotting person, Which of the following will be the haemophilic carriers?/ िदया गया
ह ैकी x हीमोफीिलया जीन वाला गणुस�ू ह,ै x सामा� र� जमन ेवाला गणुस�ू ह,ै तो िन� म� स ेकौन­सा ���
हीमोफीिलया के वाहक का काय� करेगा?

 

Correct Answer :­  

10)

Question Stimulus :­

The hepatitis­ B vaccine used today is­/ आजकल उपयोग होन ेवाला का हपेटेाइिटस­बी का टीका �ा
ह?ै

First generation vaccine/ �थम पीढ़ी का टीका

Second generation vaccine/ ि�तीय पीढ़ी का टीका

Third generation vaccine/ इ�रफेरॉन

Third generation vaccine/ ततृीय पीढ़ी का टीका

Correct Answer :­Second generation vaccine/ ि�तीय पीढ़ी का टीका 

11)

Question Stimulus :­

What is Serum?/ सीरम �ा होता ह?ै

Plasma of blood/ �िधर का �ाजमा

plasma without fibrinogen/ फाइि�नोजन िबना �ा�ा



Plasma without Ca2+/ Ca2+ िबना �ा�ा

None of these/ इनम� स ेकोई नहीं

Correct Answer :­plasma without fibrinogen/ फाइि�नोजन िबना �ा�ा 

12)

Question Stimulus :­

A vertebra having convex anterior and posterior side is­/कश�ेका िजसके अ� तथा प� भाग पर
उ�लता पायी जाती ह?ै

Procoelous/�ोसीलस

Acoelus/ एसीलस

Amphicoelous/ ए�फीसीलस

Opisthocoelous/ ओिप�थोसीलस

Correct Answer :­Acoelus/ एसीलस 

13)

Question Stimulus :­

At which of the following place The Indian Rhinoceros is treated as most important
conservative wild animal?/ िन� म� स ेिकस �थान पर भारतीय ग�डा सवा�िधक मह�पणू� वन जतं ुह?ै

Gir national park/िगर रा��ीय उ�ान

Corbett national park/ काब�ट रा��ीय उ�ान

Bandipur national park/ बादंीपरु रा��ीय उ�ान

Kanjiranga national park/ काजंीरंगा रा��ीय उ�ान

Correct Answer :­Kanjiranga national park/ काजंीरंगा रा��ीय उ�ान 

14)

Question Stimulus :­

Genetically modified food used in the developing country to get rid of night blindness
solution is­/ वह कौन­सी एक पारजीनी खा� फसल ह,ै िजसस ेिवकासशील दशेो ंम� रतौधंी की सम�ा का
समाधान हो सकता ह?ै

B1 Soyabean/ B1 सोयाबीन



Flavour saver type tomato/ �वैर सवेर िक� के टमाटर

Golden rice/ गो�न राइस

Starlink maize/ �ारिलकं म�ा

Correct Answer :­Flavour saver type tomato/ �वैर सवेर िक� के टमाटर 

15)

Question Stimulus :­

The ATP is formed in:/ ए टी पी का िनमा�ण होता ह­ै

Golgi body/ गॉलजी काय म�

Ribosomes/ राबोसोम म�

Nucleus/ के�क म�

Mitochondria/ माइटोकॉ���या म�

Correct Answer :­Mitochondria/ माइटोकॉ���या म� 

16)

Question Stimulus :­

A chemical substance named fertilizing is produced by­/ फिट�लाइिजन नामक रासायािनक पदाथ�
का उ�ादन होता ह­ै

Acrosome/ ए�ोसोम

Mature ovum/ प�रप� अ�ाणु

Polar cell/ �वु कोिशका

None of these/ इनम� स ेकोई नहीं

Correct Answer :­Mature ovum/ प�रप� अ�ाण ु

17)

Question Stimulus :­

Which of the following in place of fat synthesis?/ िन� म� स ेकौन­सा वसा स�ंषेण का �थान ह?ै

Rough ER/खदुदरुा ई आर

Smooth ER/ िचकना ई आर



Golgybody/ गॉ�ीकाय

Ribosome/ राइबोसोम

Correct Answer :­Ribosome/ राइबोसोम 

18)

Question Stimulus :­

Proportion of young individuals is highest in­/यवुाओ ंका अिधकतम अनपुात होता ह­ै

Expanding Population / िव�तृ समि� म�

Stable Population/ �थायी समि� म�

Declining population/ घटती समि� म�

Both Expanding Population and Expanding Population / िव�तृ समि� और �थायी समि�
दोनो ंम�

Correct Answer :­Expanding Population / िव�तृ समि� म� 

19)

Question Stimulus :­

The bacterial species which has been developed by biotechnology for use in alcohol
industry is­/ ए�ोहॉल उ�ोग म� जवै­�ौ�ोिगकी �ारा िजस िजवाण ुकी नई �जाित तयैार की गई ह,ै वह ह­ै

Bacillus subtilis/ बसैीला सबिटिलस

Saccharomyces cerevisiae/ सकैरोमाइिसस िसरेिविस

E. coli/ई‑ कोलाई

Pseudomonas putida/�डूोमोनास �िूटडा

Correct Answer :­Bacillus subtilis/ बसैीला सबिटिलस 

20)

Question Stimulus :­

Hiccup is caused by uncontrolled contraction of­/ िहचकी का कारण होता ह,ै िकसका अिनयिं�त
सकंुचन­

Stomach/ अमाशय

Intercoastal muscles/ अतंरापश�की पिेशयाँ



Diaphragm/ त�पुट

None of these/ इनम� स ेकोई नहीं

Correct Answer :­Diaphragm/ त�पुट 

21)

Question Stimulus :­

Cadmium pollution cause­/ कैडिमयम �दूषण स ेहोता ह­ै

Minimata disease/ िमनीमाता रोग

Black foot disease/ �कै फुट रोग

Sceletrol fluorosis/ �ेलटे�ल �ोरोिसस

Itai­Itai disease/ ईटाइ­ईटाइ रोग

Correct Answer :­Itai­Itai disease/ ईटाइ­ईटाइ रोग 

22)

Question Stimulus :­

The real product of apiculture is–/ मधमु�खी पालन का वा�िवक उ�ाद ह­ै

Bee wax/मधमुोम

Honey/ मध ु(शहद)

Both the above/ उपय�ु� दोनों

None of the above/ उपय�ु� म� स ेकोई नहीं

Correct Answer :­Both the above/ उपय�ु� दोनो ं

23)

Question Stimulus :­

The genetic material of viruses is­/ िवषाणओु ंका आनवुािंशक पदाथ� होता ह­ै

Some DNA and RNA both/ कुछ म� डीएनए अव ंआरएनए दोनो ंही

Only RNA/ केवल आरएनए

Only DNA/ केवल डीएनए



DNA in some viruses and only RNA in remaining/ कुछ िवषाणओु ंम� डीएनए एव ंकुछ म� केवल
आरएनए

Correct Answer :­DNA in some viruses and only RNA in remaining/ कुछ िवषाणओु ंम� डीएनए
एव ंकुछ म� केवल आरएनए 

24)

Question Stimulus :­

Who gives the hot dilute soup­/ हॉट डाइ�टू सपू िकसके �ारा िदया गया­

Oparin/ ऑप�रन

Haldane/ ह�ेने

Urey/ यरूे

None of these/इनम� स ेकोई नहीं

Correct Answer :­Haldane/ ह�ेने 

25)

Question Stimulus :­

The main function of mammalian corpus luteum is to produce­/ �नी कॉप�स �िूटयम का
�मखु काय� िन� को उ�ािदत करना ह­ै

Relaxin Only/केवल �रलौ��न

Human chorionic gonadotropin/मानव को�रयोिनक गोनडैोट�ॉिपन

Progesterone/�ोज�े�ॉन

Estrogen Only/केवल ए��ोजने

Correct Answer :­Progesterone/�ोज�े�ॉन 

26)

Question Stimulus :­

Which hormone plays an important role in the regulation of diurnal rhythm of our
body?/हमारे शरीर म� दिैनक लय का िनयमन करन ेके िलय ेकौन­सा हॉम�न मह�पणू� काय� करता ह?ै

Melatonin/िमलटैोिनन

Thymosins/ थायमोिस�



Oxytocin/ ऑ�ीटोिसन

Glucagon/ �कूागोन

Correct Answer :­Melatonin/िमलटैोिनन 

27)

Question Stimulus :­

The country which is highly responsible for the evolution of green house gas is­/ िकस
दशे म� सबस ेअिधक �ीन हाउस गसै उ�िज�त होती ह�?

France/�ासं

U.S.A./य.ूएस.ए

India/भारत

Britain/ि�टने

Correct Answer :­U.S.A./य.ूएस.ए 

28)

Question Stimulus :­

After injury which tissue do not have capability of regeneration?/ चोट�� होन ेपर पनुज�नन
की �मता िकसम� नही ंपायी जाती ह?ै

Nervous tissue/ तिं�का ऊ�क

Epidermis/ अिधचम�

Tendon/ट�ेन

Smooth tissue/ िचकन ेऊ�क

Correct Answer :­Nervous tissue/ तिं�का ऊ�क 

29)

Question Stimulus :­

Relaxin is released from­/ रेल�ै�न �ािवत होता ह­ै

Pituitary gland/ िपयषू �िंथ से

Ovary/ अडंाशय से



Adrenals/ एड�ीनल से

Testis/ वषृण से

Correct Answer :­Ovary/ अडंाशय स े

30)

Question Stimulus :­

Riboflavin is­/राइबो�िेवन ह­ै

Vitamin A/ िवटािमन ए

Vitamin B2/ िवटािमन बी2

Vitamin B12/ िवटािमन बी12

Vitamin C/ िवटािमन सी

Correct Answer :­Vitamin B2/ िवटािमन बी2 

Topic:­ General English
1)

Question Stimulus :­

Fill in the blank with the correct option.

Solomon was _______ any other king.

the wisest than

wise than

wiser than

wisest than

Correct Answer :­wiser than 

2)

Question Stimulus :­

What is the meaning of the suffix ‘acy’ in the word ‘democracy’?

state or quality

condition



make or become

having the quality of

Correct Answer :­state or quality 

3)

Question Stimulus :­

Out of the four words given below, find the word which is not correctly spelt?

Compitition.

Conscious.

Criticize.

Ceiling.

Correct Answer :­Compitition. 

4)

Question Stimulus :­

Fill in the blank with the correct option.

Susie is _______ of all the four sisters.

beautiful

more beautiful

most beautiful

the most beautiful

Correct Answer :­the most beautiful 

5)

Question Stimulus :­

Fill in the blank with the correct option.

Neither the students nor their guide ____ present in the common room .

was

were



am

had

Correct Answer :­was 

6)

Question Stimulus :­

Out of the four sentences given below, which is the correct passive voice of the
sentence?

Who did this work?

Who had done this work?

Who has done this work?

By whom is this work done?

By whom was this work done?

Correct Answer :­By whom was this work done? 

7)

Question Stimulus :­

Fill in the blank with the correct preposition.

He felt it would be ______ his dignity to comment.

besides

beneath

beyond

beside

Correct Answer :­beneath 

8)

Question Stimulus :­

Out of the four words given below, find the word which is an antonym of
‘mammoth’?

Large



Tiny

Giant

Animal

Correct Answer :­Tiny 

9)

Question Stimulus :­

Fill in the blank with the correct phrasal verb.

The robbers ______ his house last night.

broke down

broke off

broke into

broke out

Correct Answer :­broke into 

10)

Question Stimulus :­

Fill in the blank with the correct option.

She has _____ very unique ability to inspire people.

an

a

the

No article required

Correct Answer :­a 

11)

Question Stimulus :­

Fill in the blank with the correct option.

He _____ present at the wedding of his younger brother.



ought to

ought not to

ought to has been

ought to have been

Correct Answer :­ought to have been 

12)

Question Stimulus :­

What is the meaning of the prefix ‘pre’ in the word ‘precede’?

before

after

between

beyond

Correct Answer :­before 

13)

Question Stimulus :­

Choose the correct article to fill in the given blank.

We stayed ____ days in Florence and visited the museums.

little

a little

few

a few

Correct Answer :­a few 

14)

Question Stimulus :­

Out of the four sentences given below, which is the correct active voice of the
sentence?



Tea is not drunk by me

I did not drink tea.

I do not drink tea.

I had not drunk tea.

I have not drunk tea.

Correct Answer :­I do not drink tea. 

15)

Question Stimulus :­

Out of the four sentences given below, find the sentence which is
grammatically correct?

Each boy and each teacher are required to bring his luggage.

Each boy and each teacher are required to bring their luggage.

Each boy and each teacher is required to bring their luggage.

Each boy and each teacher is required to bring his luggage.

Correct Answer :­Each boy and each teacher is required to bring his luggage. 

16)

Question Stimulus :­

Out of the four sentences given below, which is the correct indirect speech of
the sentence?

 “Please give me something to eat. I am hungry” the old man said to them.

The old man ordered them to give him something to eat and said
that they were hungry.

The old man requested them to give him something to eat and said
that he was hungry.

The old man threatened them to give him something to eat and
said that he was hungry.

The old man commanded them to give him something to eat and
said that they were hungry.



Correct Answer :­The old man requested them to give him something to eat and
said that he was hungry. 

17)

Question Stimulus :­

Out of the four words given below, find the word which is not correctly spelt?

Independent.

Separate.

Sccissors.

Playwright.

Correct Answer :­Sccissors. 

18)

Question Stimulus :­

Out of the four words given below, find the word which is an antonym of
‘decay’?

Collapse

Flourish

Decompose

Putrefy

Correct Answer :­Flourish 

19)

Question Stimulus :­

Fill in the blank with the correct option.

He ______to an island that was not far away.

swims

is swimming

swam

swum



Correct Answer :­swam 

20)

Question Stimulus :­

Fill in the blank with the correct preposition.

Distribute the mangoes _____ the boys and the girls.

between

among

over

above

Correct Answer :­among 

21)

Question Stimulus :­

Out of the four sentences given below, find the sentence which is
grammatically correct?

I, you and he are going to steal the mangoes from his garden.

You, I and he are going to steal the mangoes from his garden

You, he and I are going to steal the mangoes from his garden.

He, you and I are going to steal the mangoes from his garden.

Correct Answer :­I, you and he are going to steal the mangoes from his garden. 

22)

Question Stimulus :­

Fill in the blank with the correct option.

It is essential that we _____ protect the environment.

should

must

ought to



could

Correct Answer :­should 

23)

Question Stimulus :­

Out of the four sentences given below, which is the correct indirect speech of
the sentence?

He said to me, “I was waiting for you”

He said to me that he was waiting for me.

He said to me that he had waiting for me.

He said to me that he will be waiting for me.

He said to me that he had been waiting for me.

Correct Answer :­He said to me that he had been waiting for me. 

24)

Question Stimulus :­

Fill in the blank with the correct option.

She _______ to several specialists about her problem, but nobody knows why she is sick.

talks

has talked

have talked

is talking

Correct Answer :­has talked 

25)

Question Stimulus :­

Fill in the blank with the correct phrasal verb.

The school bus ______ and had to be towed to the nearest garage.

broke off



broke down

broke into

broke out

Correct Answer :­broke down 

Topic:­ Reading Comprehension
1)

Question Stimulus :­

Society means an organized group of people where cultural, social and moral
values bind the people together. But the use of mobile phones has lowered our
active social life and has become an addiction.

In our Indian society, guests are regarded as gods but no more do gods visit us
in the form of relatives or friends. All these social obligations are carried out by
the means of mobile phones. Our birthdays, anniversaries, and other such
social occasions are celebrated by sending messages and the formality is over.
The trend of sending greeting cards has now become out dated as we feel that
messages on mobile phones are more meaningful. It is considered the latest
means of communication. Communication is essential, but when it is misused it
becomes fatal.

What is the meaning of the word ‘addiction’ in the passage?

Dislike.

Dependence.

Risk.

Fashion.

Correct Answer :­Dependence. 

2)

Question Stimulus :­

Society means an organized group of people where cultural, social and moral values bind the
people  together.  But  the  use  of  mobile  phones  has  lowered  our  active  social  life  and  has
become an addiction.

In our Indian society, guests are regarded as gods but no more do gods visit us in the form of
relatives or friends. All these social obligations are carried out by the means of mobile phones.
Our  birthdays,  anniversaries,  and  other  such  social  occasions  are  celebrated  by  sending
messages and the formality  is over. The trend of sending greeting cards has now become out
dated as we  feel  that messages on mobile phones are more meaningful.  It  is  considered  the
latest means of communication. Communication is essential, but when it is misused it becomes
fatal.



What does the author mean by the phrase ‘social obligations’?

Contact or dealings.

Routine activities.

An informal need to do something based on prescribed social etiquette.

None of the above.

Correct Answer :­An informal need to do something based on prescribed social etiquette. 

3)

Question Stimulus :­

Society means an organized group of people where cultural, social and moral
values bind the people together. But the use of mobile phones has lowered our
active social life and has become an addiction.

In our Indian society, guests are regarded as gods but no more do gods visit us
in the form of relatives or friends. All these social obligations are carried out by
the means of mobile phones. Our birthdays, anniversaries, and other such
social occasions are celebrated by sending messages and the formality is over.
The trend of sending greeting cards has now become out dated as we feel that
messages on mobile phones are more meaningful. It is considered the latest
means of communication. Communication is essential, but when it is misused it
becomes fatal.

Why does the author call “the sending of messages” a mere formality?

Because it is done with a lot of feelings and sentiments.

Because it has become a rigid observance of convention or
etiquette.

Because it involves exchange of emotions.

None of the above.

Correct Answer :­Because it has become a rigid observance of convention or
etiquette. 

4)

Question Stimulus :­

Society means an organized group of people where cultural, social and moral
values bind the people together. But the use of mobile phones has lowered our
active social life and has become an addiction.



In our Indian society, guests are regarded as gods but no more do gods visit us
in the form of relatives or friends. All these social obligations are carried out by
the means of mobile phones. Our birthdays, anniversaries, and other such
social occasions are celebrated by sending messages and the formality is over.
The trend of sending greeting cards has now become out dated as we feel that
messages on mobile phones are more meaningful. It is considered the latest
means of communication. Communication is essential, but when it is misused it
becomes fatal.

What does the word ‘fatal suggest in the passage?

Useful.

Beneficial.

Disastrous.

Tradition.

Correct Answer :­Disastrous. 

5)

Question Stimulus :­

Society means an organized group of people where cultural, social and moral
values bind the people together. But the use of mobile phones has lowered our
active social life and has become an addiction.

In our Indian society, guests are regarded as gods but no more do gods visit us
in the form of relatives or friends. All these social obligations are carried out by
the means of mobile phones. Our birthdays, anniversaries, and other such
social occasions are celebrated by sending messages and the formality is over.
The trend of sending greeting cards has now become out dated as we feel that
messages on mobile phones are more meaningful. It is considered the latest
means of communication. Communication is essential, but when it is misused it
becomes fatal.

Why has the trend of sending greeting cards now become out dated?

Because greeting cards are no longer available.

Because greeting cards are expensive to buy.

Because people find sending of messages more convenient and
quick.

None of the above.

Correct Answer :­Because people find sending of messages more convenient
and quick. 




